Lesson Plan – Changes in Industrial Production
Student Questions and Discussion

Topic 1: Henry Ford

1. What did Henry Ford create?  How did it impact production of goods?

2. *Before his invention, production was said to be labor-intensive.  What does this mean?

3. What is the difference between Fordist and post-Fordist?

Topic 2: Transnational corporations

1. *What is a multinational company/transnational corporation?
2. *How do multinational companies/transnational corporations fit into the post-Fordist world?

Topic 3: Transnational corporations (con’t)

1. Transnational corporations want to be ubiquitous.  What does that mean?  Give an example of a corporation that is ubiquitous.

2. *Transnational corporations, and any other business, have variable and fixed costs.  Give a definition for each and an example.

Topic 4: Time-Space Compression

1. How does time-space compression benefit industrialization?

2. How is it directly related to the concept, just-in-time delivery?

Topic 5: Global division of labor

1. Define global division of labor by giving an example.
2. How are core, periphery, and semi-periphery countries interlinked in the global division of labor?

3. *What does it mean to outsource a job?

Topic 6: Changing Industries
1. *Who is importing manufactured exports?

2. *The phrase “footloose and fancy free” means having no ties.  What is a footloose industry?
3. Why do they have this distinction?

*Topic 7: Changing Transportation

Transportation systems are the most important industrial factor and they have changed since the Industrial Revolution.  Describe how each mode of transportation aids in the distribution of a good.  What are the advantages and disadvantages to each?

1. Trucks

2. Trains

3. Airplanes

*Topic 8: Changing Transportation (con’t)

Transportation systems are the most important industrial factor and they have changed since the Industrial Revolution.  Describe how each mode of transportation aids in the distribution of a good.  What are the advantages and disadvantages to each?

1. Pipelines

2. Ships 

Topic 9: China

China is the newest industrial center in the Pacific Rim.  

1. How did a change in government increase industrial output?

2. What labor advantages does China have over some other countries?

Topic 10: Service Economy

1. Give an example of a service industry.

2. What levels of economic activity involve service industries?

3. How are deindustrialization and service industries related?

4. Why are service industries not tied to raw materials?

Lesson Plan – Changes in Industrial Production

Student Questions and Discussion

1. What did Henry Ford create?  How did it impact production of goods?

a. Henry Ford created the mass production assembly line which increased production speed assembling them at a single site making them cheaper and more affordable to more people. This became known as the Fordist model.
2. *Before his invention, production was said to be labor-intensive.  What does this mean?

a. Labor-intensive usually involves productions by hand and where costs compromise a major part of production/total expenses.

3. What is the difference between the Fordist and post-Fordist system?

a. Fordist system is production at a single site

b. Post-Fordist system where productions has been dispersed around the globe by multinational corporations that shift production, outsourcing it around the world, and bringing places closer in time and space than previously possible.
4. *What is a multinational company/transnational corporation?

a. Multinational Corporation is a corporation that has its facilities and other assets in at least one country other than its home country. Such companies have offices and/or factories in different countries and usually have a centralized head office where they co-ordinate global management.
5. *How do multinational companies/transnational corporations fit into the post-Fordist world?

a. Multinational companies are able to assemble means of production in various locations that are beneficial to them (cheap labor, lax env regulations, etec). When the situation becomes not as beneficial then they can more to another place relatively quickly. This can hurt job security for would be career employees. 

6. *Transnational corporations want to be ubiquitous.  What does that mean?  Give an example of a corporation that is ubiquitous.

a. Companies want the consumer to have a similar experience at different locations regardless of the location. Franchises such as McDonalds.

7. *Transnational corporations, and any other business, have variable and fixed costs.  Give a definition for each and an example.

a. Variable costs- Costs such as energy supply, transport expenses, labor costs, and other costs relating to the industrialization of an area.
b. Fixed costs-an activity cost (as of investment in land, plant, and equipment) that must be met without regard to level of output; an input cost that is spatially constant
8. How does time-space compression benefit industrialization?

a. Time space compression- David Harvey- the notion that some places in the world are more connected than others through communication and transportation technologies than ever before.

b. Industrialization benefits from this by being able to exploit cheaper variable costs. Goods can be shipped around the world faster than ever. It has also altered the global division of labor.

9. How is it directly related to the concept, just-in-time delivery?

a. Just in time delivery- rather than keeping a large inventory of components or products, companies keep just what they need for short term production and new parts are shipped in quickly when needed.

b. Time space compression has allowed this to be possible with vastly improved transportation/communication technologies.

10. Define global division of labor/new international division of labor by giving an example.

a. a division of work between rich and poor countries under which low-waged workers in the global south do assembly, manufacturing, and office work on contract to companies based in the global north
11. How are core, periphery, and semi-periphery countries interlinked in the global division of labor?

a. Most multinational corporations have moved any labor intensive production/assembly to periphery and semi-periphery countries. R and Dis located in the core along with any highly sophisticated manufacturing to item with a high cost of transport for the finished product.

12. What does it mean to outsource a job?

a. Each of the steps in commodity production that used to take place within a single factory is now outsourced to suppliers who offer cost savings. When that suppliers is located out of the country that called offshore.

13. *How does the global division of labor impact the socioeconomic structure of the United States?

a. Many workers in the manufacturing sectors of the US have seen their jobs being outsourced or moved offshore starting in the 1970s and continuing at increasing rates. Jobs are being created in the tertiary sector of the economy. However many of those who worked in manufacturing are not qualified to meet the service industry jobs. This has led to increased gaps in rich and poor. The rust belt of American manufacturing is an example of this deindustrialization.

14. *How does the global division of labor impact the socioeconomic structure of countries such as Mexico, China and India?

a. Mexico has benefited from NAFTA and the establishment of maquiladoras along the Mexico/US border.

b. India and China have both benefited from foreign investment to their manufacturing industries and increasingly to service industries. 

15. *Who is importing manufactured exports?

a. Core countries. Goods flow overwhelmingly from peripheral countries where they are manufactured and the finished products are shipped to core countries.

16. *The phrase “footloose and fancy free” means having no ties.  What is a footloose industry?

a. a descriptive term applied to manufacturing activities for which the cost of transporting material or product is not important in determining location of production; microchips
17. Transportation systems are the most important industrial factor and they have changed since the Industrial Revolution.  Describe how each mode of transportation aids in the distribution of a good.  What are the advantages and disadvantages to each?

a. Trucks- short distance overland, can be unloaded easily
b. Trains- long distance overland, can carry more goods, harder/longer to unload
c. Airplanes- most expensive, quickest, used for valuable small bulk items
d. Pipelines- mass transport of fuel over long distances and across country borders
e. Ships – most popular, containers, cost is less
18. China is the newest industrial center in the Pacific Rim.  How did a change in government increase industrial output?

a. China has the largest amount of low cost labor, and the largest potential market for consumer goods. Starting in the 1990s China’s doors were opened to foreign investment creating manufacturing jobs and eventually paying enough Chinese people to create demand for domestic production.

19. What labor advantages does China have over some other countries?

a. Largest number of cheap laborers and the largest potential market or consumer goods.

20. What are the specialized aspects of the service industry?  What activities do they include?
a. Quaternary industries-  processing/manipulating of information and capital (finance, administration, legal services)

b. Quinary industries- advancement of human capabilities (scientific research, higher education)

21. How are deindustrialization and service industries related?

a. As deindustrialization occurs service industry jobs replace the manufacturing jobs.

22. What is a high-technology corridor?  What is the goal of making high-technology corridors?  How can they result in a technopole?

a. Area designated by local government to benefit from lower taxes and high technology infrastructure with a goal to provide high tech jobs to the local population.

b. Attract technology

c. Technopole- an area planned for high technology where agglomeration built on synergy among technological companies occur

d. Silicon Valley, Route 128, RTP
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